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Question 1

In female sexual differentiation, which statement is correct?
A) The Müllerian ducts develop into the fallopian tubes, the uterus, and the upper two-thirds of the vagina.
B) The Müllerian ducts develop into the fallopian tubes and the Wolffian ducts develop into the uterus.
C) The Müllerian ducts degenerate and the Wolffian ducts develop into the labia majora, labia minora, and the vaginal opening.
D) The Wolffian ducts develop into the fallopian tubes, the ovaries, and the vagina.
Answer: https://biology-forums.com/index.php?topic=830462

Question 2

A man with erectile dysfunction can only use Viagra for a maximum of 12 months before it becomes ineffective.
A) True
B) False
Answer: https://biology-forums.com/index.php?topic=831963

Question 3

Underarm hair appears for boys on average at age
A) 15.
B) 9.
C) 18.
D) 11.
Answer: https://biology-forums.com/index.php?topic=831648

Question 4

Research suggests that butch–femme dimensions of female homosexuality are the product of societal expectations of gender roles.
A) True
B) False
Answer: https://biology-forums.com/index.php?topic=830898

Question 5

Female sterilization involves
A) the removal of the uterus and ovaries.
B) the removal of the fallopian tubes.
C) cutting and tying the fallopian tubes.
D) cutting the fallopian tubes and removing the uterus.
Answer: https://biology-forums.com/index.php?topic=831523

Question 6

Pro-pornography feminists believe that pornography can promote greater
A) gender expression.
B) sexual freedom.
C) sexual satisfaction.
D) gender equality.
Answer: https://biology-forums.com/index.php?topic=832753

Question 7

In the hierarchy of sex work, those with the highest status are known as
A) call girls.
B) hotel prostitutes.
C) bar prostitutes.
D) brothel workers.
Answer: https://biology-forums.com/index.php?topic=832717

Question 8

Most women experience depression and loss of appetite in the months following labour.  
A) True
B) False
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Answer: https://biology-forums.com/index.php?topic=831362

Question 9

David has experienced burning during urination, an ache in his scrotum, and a thin, white discharge from his penis. He should be tested for
A) gonorrhea.
B) syphilis.
C) chlamydia.
D) hepatitis.
Answer: https://biology-forums.com/index.php?topic=831997

Question 10

The sexual revolution of the 1960s reflected
A) social ambivalence and political liberalism.
B) social permissiveness and political conservatism.
C) social permissiveness and political liberalism.
D) social ambivalence and political cohesiveness.
Answer: https://biology-forums.com/index.php?topic=830062

Question 11

A woman who has never menstruated is experiencing
A) dysmenorrhea.
B) amenorrhea.
C) secondary dysmenorrhea.
D) primary amenorrhea.
Answer: https://biology-forums.com/index.php?topic=830253

Question 12

Mykos is a one-year-old boy. Given this information, we might expect him to
A) have acquired and internalized a male gender identity.
B) have preferences for stereotypically male toys.
C) believe that girls should only play with dolls.
D) be able to solve the psychosexual conflict of the phallic stage.
Answer: https://biology-forums.com/index.php?topic=830502

Question 13

The pattern of sexual partners for most single people would be described as
A) casual relations.
B) love relationships with no commitment.
C) serial monogamy.
D) sexual relations leading to commitment.
Answer: https://biology-forums.com/index.php?topic=831676

Question 14

In Kohlberg’s cognitive-developmental theory, gender constancy
A) develops in most children by age seven or eight.
B) develops in most children by age three or four.
C) does not fully develop until adolescence.
D) does not develop until sexual maturity.
Answer: https://biology-forums.com/index.php?topic=830509

Question 15

Research has found evidence linking a gay male sexual orientation to
A) an extra thirteenth chromosome.
B) the X chromosome.
C) the interstitial nucleus of the hypothalamus.
D) prenatal exposure to excess estrogens.
Answer: https://biology-forums.com/index.php?topic=830829
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Question 16

Researchers using the case study method must be especially aware of
A) observer bias.
B) sample adjustment.
C) participant bias.
D) sample stratification.
Answer: https://biology-forums.com/index.php?topic=830132

Question 17

When looking at issues related to sex and politics, Canadian politicians have largely maintained a separation between religion and state. The
document that provides support for this approach is
A) the Statistics Canada Census.
B) the Canadian Charter of Rights and Freedoms.
C) the Criminal Code of Canada.
D) the Parliament Act.
Answer: https://biology-forums.com/index.php?topic=830019

Question 18

Which of the following is an example of gender roles? 
A)	Anatomical differences between male and female sexual anatomy
B)	Cultural expectations that males, but not females, initiate sexual contact
C)	Political freedom to self-identify as heterosexual, homosexual, or bisexual
D)	Taboos prohibiting male–male or female–female sexual activities
Answer: https://biology-forums.com/index.php?topic=829996

Question 19

Using condoms does not reduce the risk of genital herpes.
A) True
B) False
Answer: https://biology-forums.com/index.php?topic=832138

Question 20

According to Freud, same-gender sexual orientation results from early childhood experiences with a “close-binding” father and a “detached-hostile”
mother.
A) True
B) False
Answer: https://biology-forums.com/index.php?topic=830895
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